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Translation Schema for Expressions
the following function  ,oi4q f(void) |

int x,vy,z;
X = yt+z*3;

o Let p = {z > 1,5 3, 2 ~ 3} bk the address environment.

@ Let R4 be the first free register, that is, i = 4.

code? x=y+z+3p = codeh y+zx3p
move R1 Ra

codef [+ p

move Ry Ro
codéd zx3

add R4 II
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Applying Translation Schema for Expressions
Suppose the following function ;4 £ (void) |

is given: int

X = y+tz*3;

eletp={z— y— 22— 3} bb the address environment.
@ Let R4 be the first free register, that is,

code* B ytz+3lp = codeh y+z+3p

|T0ve R1 Ry

Applyin% Translation Schema for Expressions
Suppose the following function iy £ (void) {

is given: int x,v,2;
X = y+tz*3;

oletp={z— Ly 2[z— 3} bb the address environment.
@ Let R4 be the first free register, that is, : = 4.

code? x=y+z+3 p = codel y+zx3p
move R1 R4

codo% y+z+*3 p = move Ry Ro
coded zx3p
add R4 R4 Rs

code‘rﬁ, [zk3 p = |move Rs R3

codd® 3 5

mul |&,] |Rr,

il
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AppIL}/in Translation Schema for Expressions
Suppose the following function ;4 £ (void) |

is given: int x,y,2;
X = y+z*3;

oletp={z— 1y~ 22— 3} bé the address environment.
@ Let R4 be the first free register, that is, i = 4.

code? x=y+z+3 p = codel y+z+3 P
move 71 R4

codeﬁ, y+z+x3 p = move R4 Ro
coded, zx3p
add R4 R4 Rs
code% z+3 p = move R5 R3
code$ 3 p
mul R5 Rs Rg

codeGR 3p loadc Rg 3
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AppIL}/in Translation Schema for Expressions
Suppose the following function ;4 £ (void) |

is given: int x,y,2;

X = y+z*3;
oletp={z— l,y—2,2+— 3} bé the address environment.
@ Let R4 be the first free register, that is, : = 4.

code* x=y+z+3 p = code} y+zx3p
move 1 R4
code‘é y+z+*3 p = move Ry Ry

coded, zx3p
add R4 R4 Rs

code% zx3 p = move Rs R3
code$ 3 p
mul R5 Rs Rs
(:ode% 3p = loadc Rg 3

~ the assignment x=y+z 3 is translated as

move R4 Ro;move Rs Rsz;loade Rg 3;mul Rs Rs Rg;add R4 R4 Rs;move Ry Ry
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